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General Instructions :

(i)
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The question paper has 30 questions in all. All questions are compulsory.

Marks are indicated against each question.

Questions from serial number 1 to 8 are very short answer type questions. Each
question carries one mark.

Questions from serial number 9 to 20 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 21 to 28 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

Question number 29 and 30 are map questions of 3 marks each, from History
and Geography respectively. After completion, attach the maps inside your

" answer book.
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Who followed a policy of severe control and punishment in France ?
foret g7 % 7t o A vl 0 a1 e =AW fafaw

Name the word which describes the River system of an area.
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Palk strait and Gulf of Mannar separate which two countries?

femera =6t wad el 4oft %1 TR

Name the Southernmost range of the Himalayas.
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What is the nature of state where citizens have complete freedom to follow any religion ?
farct e 91 el erafeerd &2

Where is Chile situated?
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Which form of government is considered non-democratic ?
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Modern farming methods require which type of machinery ?
1789 # ¢ XVI % GRI 74 & o1 oA ST o fefeedl i1 STarel Rl el sAmeA it |
Explain any three causes which led to imposing fresh taxes by Louis XVI in 1789.
w9 A A R g favagg & = i gl st same Sifsa)
Explain any three effects of the First World War on the industries in Russia.
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Explain the circumstances under which Nazism became popular in Germany.
1917 % VIR % TR WA % Iq+ & HRoi Rl fafa
State the reasons for the collapse of Tsarist autocracy in 1917.
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Highlight any three lessons that the German children learnt under Nazi schooling.
wvier Tt de A i Lo H S T wife |
Differentiate between the Narmada and Tapi basins.
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Name any one country of Asia which is larger in size than India. Explain the importance of

India's location at the head of Indian Ocean.

feTera 1 S W goied &2 39 Rl ) fasnsti 1 g Hifsw)

Which part of Himalayas is the Purvanchal ? State any two characteristics of Purvanchal.
wer el a1 foafeest # s we Fif)

Diffrentiate between tributaries and distributaries.
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What values do we get from the speech of Jawaharlal Nehru “Tryst with Destiny” ?
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State any three features of 21 point agreement signed by the striking workers in Poland.
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Explain the following :

(a) Rule of law

(b) Respect for rights

() Political equality
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Define  seasonal  unemployment. Give an examplee. How can we
overcome this situation ?
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Describe any four modern methods of farming which heralded the Green revolution. Write
one harmful effect of Green revolution.

Wi H shif~d | gd Afgersdl 1 Y 1 qedied Sifag |
Evaluate the role of women in France before the revolution.
THISEE! T4 i T i 8] LI & g S3 TTT SHAHRT SUE] 1 q0iF HIT |
Describe the repressive measures taken by Stalin to establish a socialist state.
AT/ OR
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How did the Nazis proceed to realize their murderous racial ideology by eliminating the
‘undesirables’ 7

femer & forwel Wi S=amea @emil i =T Fifv)
Explain any five relief features of Himalayas.
T8 dea b w9 A W R e § HfaE # sTavded W e

sife )
Explain the necessity of a constitution in the newly born democracy in South Africa .

fact o T SR % eI & SMUR W AIdis WA & STE 1 qui Hifeg |
On the basis of the political case study of Chile, narrate the experiences of democratic rule.
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Why is human capital considered superior to other resources like land and physical capital ?

Name the factors that affect the quality of population. Explain how these factors help in
human capital formation ?

Titd # denfeush ATIRIe ST Sl 9geT 37 3g WHR G 31T T HHT o1 SATEAT HifT |
Explain the steps taken by government to encourage alternate occupation in villages.

SAfRr FERE SfteT d e 1 @ i 22 39 = A vRa % frufa 3 gur % fae s
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What role does health play in the individual's working life ? Suggest some measures to improve the
overall situation in India.
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(A) <9 AUR ¥ 99 B9 $ U6 U |

(B) WI B AEX W AT & |

(C) eI el 1789 & WA shifd oMR™T §E?

Az Frafales woT daer gheartiam aienfey & fao s
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(29.3) 1789. 9 Wi BT Hifd e WM I IR 47

Three items A, B and C are shown in the given outline map of France. Identify these items
with the help of following information and write their correct names on the lines marked on
the map.

(A) A port of France related to slave trade.

(B)  The region not affected by the great fear.

(C)  The place from where the French Revolution of 1789 was started.

Note : The following questions are for the visually impaired candidates only :

(29.1) Name a port of France which was enriched by the slave trade.

(29.2) Name the eastern region which is not affected by the great fear.

(29.3) From which place was the French Revolution of 1789 started?
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